
6.60 One­Variable Data Analysis Review.notebook

1

October 29, 2020

One­Variable Data 
Analysis Review

MHR Page 308 #s 1 ­ 11

Solutions



6.60 One­Variable Data Analysis Review.notebook

2

October 29, 2020

a) Mean = the arithmetic average of the data.

    Median = middle value once the data is ordered.

    Mode = the value that occurs most often.

b) Mean = sum of data divided by the number of items of data.

    Median = middle value once the data is ordered. If there are two        
middle values, take the mean of them.

    Mode = identify value that occurs most often.

c) Mean = average time taken by an athlete to run 100 metres.

    Median = used to represent an employees salary.

    Mode = the most frequently sold shoe size.

Median = 8th position once ordered

= 76

Mean

Mode = 54 and 675 (both appear twice)
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Median = Midway between 6th and 7th values once ordered
= (17 + 19) / 2
= 36 / 2
= 18

Mean

Mode = 7 (appears thrice)

Mean

Mode = 2346 and 6754 (both appear twice)

Median = Midway between 4th and 5th values once ordered

= (2346 + 5200) / 2

 = 7546 / 2

 = 3773
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Monique's slugging average is 0.581

Tonya's slugging average is 0.878

Jane's slugging average is 0.643

a)

Mean = Sum of Midpoint x Frequency
Cumulative Frequency Total

Median = 43rd piece of data (85+1) / 2

= this occurs in the 50 ­ 60 interval

= $55,000 (use the midpoint of the interval)
Mode = Interval with the biggest frequency

= 50 ­ 60 (frequency of 31)

= $50,000 ­ $60,000

=   4865 = $57,235
  85

b)

Mode

Median

Mean
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b)

Mode

Median

Mean

a) A percentile is the percentage of the data that is equal or below a 
specific piece of data. Quartiles are when the data is divided into four 
equal parts. Q1 is the same as the 25th percentile, Q2 is the 50th 
percentile (median), and Q3 is equal to the 75th percentile.

b) A shoe store could use the interquartile range (IQR = Q3 ­ Q1). 
This shows the middle 50% of the shoe sizes sold, so the store would 
order more of these sizes as these would be the most likely to be 
bought.
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a) You could use a spreadsheet to set this 
up. First add a column for cumulative 
frequency. Then add a percentile column. 
Alternatively, just crunch them out!

b) 178 data points. 

Q1 = 0.25(178+1) = 44.75th value = 75­100 friends         87.5 friends.

Q3 = 0.75(178+1) = 134.25th value = 100­125 friends        112.5 friends.

Interquartile Range = Q3 ­ Q1

   = 112.5 ­ 87.5

   = 25 friends

178 people aged 18

c) To create the box plot you need your FIVE values:
Lowest = 12.5, Q1 = 87.5, Median = 112.5, Q3 = 112.5, Highest = 237.5

d) An outlier is any value that 1.5 times the IQR below the Q1 or above 
the Q3.
Lower Limit:

= Q1 ­ 1.5(IQR)

= 87.5 ­ 1.5(25)

= 50

Upper Limit:

= Q3 + 1.5(IQR)

= 112.5 + 1.5(25)

= 150

There are 21 (3+18) 
below Q1 and 21 
(14+0+5+2) above Q3 
making a total of 42 
outliers for this set of data.
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a) Mean = Total Enrolled / # of Universities

= 400,329 / 20

= 20016.45

All Ontario Universities are included so use the 
POPULATION formula.

Variance

  = 5053034377 / 20

  = 252,651,719

Standard Deviation  = √Variance

    = √252,651,719

    = 15,895.02

a) Mean = Total Enrolled / # of Universities

= 400,329 / 20

= 20016.45

All Ontario Universities are included so use the 
POPULATION formula.

Variance

  = 5053034377 / 20

  = 252,651,719

Standard Deviation  = √Variance

    = √252,651,719

    = 15,895.02
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b) York University = 44,492

= (44,492 ­ 20016.45) / 15895.02

= 1.5398

York University has a z­score of 1.5398

c) Use the formula to solve for x, then compare.

­2 = (x ­ 20016.45) / 15895.02

­31790.04 = x ­ 20016.45

­11,773.59 = x

No universities have x= ­11,773.59, so there are no 
universities with a z­score of ­2.

This means that the piece of data is 1.5 standard deviations 
above the mean of the data set.
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Upper limit = Mean + 2(SD)

    = 501.1 + 2(0.48)

    = 501.1 + 0.96

    = 502.06 mL

a)  Lower limit = Mean ­ 2(SD)

    = 501.1 ­ 2(0.48)

    = 501.1 ­ 0.96

    = 500.14 mL
The acceptable range is from 500.14 mL to 502.06 mL

b) They may want to overfill to account for the CO2 that is in the drink.

c)  (i) 501.0 mL is within the range

(ii) 502.1 mL is NOT within the range (too high)
(iii) 500 mL is NOT within the range (too low) 

a) You could have:

    (1) Voting Intentions, 

    (2) Voting info for the given region, 

    (3) Percentage of sample in a region that voted for that party

b) This is a very small sample to represent the whole of Ontario, so no, 
it is not likely to be a good predictor of the outcome of the election.
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Could have 
either a bar chart 
or pie chart

Based upon the responses, we 
can infer that the managers are 
looking for technologically 
productive employees.

Generation Y are known for 
wanting to save the planet 
(global mindedness), working 
collaboratively (networking) and 
speaking what's on their mind 
(openness). These are not as 
important to some managers.
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